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J) A 5['“',!9 sails from por‘/ on __a _headng of 050°
por Qkm Tt then changes __CourSe_‘/ fo__a beari%
of 130 poc _2km  unkil g /iahH»ousev s teached .
a) ckelch  the foumedy
b) Caledate the r/zfgﬂé line  dittance fmm the 00/7Z

iéo fhe /I%MGCIJ%
C) Lg the fh\rjn seled  dmecHy  Lrom DOf‘f to the
/;ahﬂl()u&e on_uhat éearmq Joould # tavel 7
A A vadat travels from__ a harbour  on___a__beating

/ , = J
of  285° for & miles T then  changes  fo
c__bearing Of / 15° for /O miles_onkid iF reaches a
buoq
) 5!(6&1« fhe J'Oum&b{

b) Caleulobe  the clirect /r‘/re C//Lr/anrf }fmm the /Iaféduf
fo bhe /Juoq
c\ Ir the uac/l}‘ bavelled  direcHy  Lom  the harbour
fo fhe bum ,./nxfearf Of the 2\/5:‘(30/ IOUmfj{ at
a__speed {\:Jijc (Mmlnl\_/. calcdale /700\) /Oh\ja the
Joumey  ta keg
) A boat travels from _a  quay 0N a bearing_of

101°  for 20 km, It then cP\JanoeJ coulfse o

J o J )
a_ heading of 20h for Skm, ool b reaches

a__Ya chE

6)  Skekeh the journeu

bj Calodnbe  Bie dipct lLine  didani fom_the quay
ko the yacht

a The hoaé rebums  fom _the qadaf lo the quay in

o duect  line. On whaf beanrlc} does if need In Ll 7




__LQ ,, _AQ_(JMMQLQM a_éearrg Q{-" 295° from __AIM i
| changes  (owe  tp  a  headng

200 mié&. ZE  thea

~Ler
, . ._ . S
of 205" jor 300 miks vkl it teaches  Miport B T

o) skekh the joumy
el -b)  The _aucmgt " makes  the  rtfum JOumey in_q diect
— e fom At B o Aiport Aﬁ How far i

the f&@mkdgkﬂ\ﬁ 7 ' B
c) On__phgt keaﬁ‘ri%, does  the aircayt bavel Co

7 ok bhis  bum joumey?
J J o "

~ ) A helhople gl o o headng g 1017 por

fem a helport . TE  bhin  changes couse

| by “li‘ej |
_________ ] @g"r %0 miles o a  baaring ojf 038° .Ifiagfé____
- __Af‘e‘ti;_di_f_‘rx\_rj a /u?s,{){fa[ - -V S

O kb bhe jumeg

Y ke B dod e dida o e
—_helipork to the hepital 7 T

) The helpty bl dielly bk pom e

gkl b bhe  hebpod o o sped of Liomsh.

 Colwlake ko the Nearest  Minuke , hao  [mg
this _rebum. joumsy thokes . Y




